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Eight persons H, L, M, N, P, Q, R, and S 
are sitting around a circular table facing 
the centre. N sits second to the left of H. 
Two persons sit between N and S. Only 
one person sits between S and P. L sits 
on the immediate right of M. Only one 
person sits between M and R. P and H 
are not immediate neighboursof each 
other. Q and N are not immediate 
neighboursof each other. 
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Statements:
Some red are blue.
No blue is a doll.
Only a few blue are black.
All green is black.
Conclusions:
I). Some green are blue.
II). Some black are not doll.
III). All red can be doll.
IV). No green is a doll.
A. Only IV follows
B. Only II follows
C. Only I and IV follow
D. Only I and II follow
E. None follows
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Nine persons i.e. P, Q, R, S, T, U, V, W, X were born on different months i.e. January, 
March, April, May, July, August, September, October, November but not necessarily 
in same order. Four persons were born between P and T. P was born before T. Q was 
born in the month of 30 days after July. T was born after Q and before R. There were 
as many persons born before X as after R. one person was born between U and V. S 
was born before U and after W. 

नौ व्यक्ति अर्थात P, Q, R, S, T, U, V, W, X कथ जन्म अलग-अलग महीन ों यथनी जनवरी, 
मथर्ा, अपै्रल, मई, जुलथई, अगस्त, सितोंबर, अकू्टबर, नवोंबर में हुआ र्थ लेसकन जरूरी नही ों

सक इिी क्रम में ह । P और T के बीर् र्थर व्यक्ति पैदथ हुए रे्। P कथ जन्म T िे पहले हुआ

र्थ। Q कथ जन्म जुलथई के 30 सदन बथद वथले महीने में हुआ र्थ। T, Q के बथद और R िे पहले

पैदथ हुआ र्थ। X िे पहले सजतने व्यक्ति R के बथद पैदथ हुए रे्। U और V के बीर् एक व्यक्ति

कथ जन्म हुआ र्थ। S कथ जन्म U िे पहले और W के बथद हुआ र्थ।
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Nine persons i.e. P, Q, R, S, T, U, V, 
W, X were born on different months 
i.e. January, March, April, May, July, 
August, September, October, 
November but not necessarily in 
same order. Four persons were born 
between P and T. P was born before 
T. Q was born in the month of 30 
days after July. T was born after Q 
and before R. There were as many 
persons born before X as after R. 
one person was born between U 
and V. S was born before U and after 
W. 
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1. How many persons were born between X and V? 
X और V के बीर् सकतने व्यक्ति पैदथ हुए रे्?

(a) Two (b) Three (c) One (d) Four (e) More than four

2. Who among the following was born on August?
सनम्नसलक्तित में िे सकिकथ जन्म अगस्त क हुआ
र्थ?

(a) R (b) S (c) T (d) P (e) None of these

3. In which of the following month S was born? 
सनम्नसलक्तित में िे सकि महीने में S कथ जन्म हुआ र्थ?

(a) March (b) April (c) June (d) October (e) None of 
these
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4. If W is related to April, V is related to July then, P is 
related to which of the following? 
यसद W अपै्रल िे िोंबोंसित है, V जुलथई िे िोंबोंसित है, त P 
सनम्नसलक्तित में िे सकििे िोंबोंसित है?

(a) March (b) May (c) June (d) August (e) October

5. Four of the following five are alike in certain way based 
from a group, find the one which does not belong to that 
group? 
सनम्नसलक्तित पथोंर् में िे र्थर सनसित रूप िे एक िमूह के

आिथर पर िमथन हैं, उि िमूह कथ पतथ लगथएों ज उि िमूह
िे िोंबोंसित नही ों है?

(a) R (b) S (c) T (d) U (e) V
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(a) If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow.
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(a) If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow.
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Eight persons are sitting around a square table. Four persons are sitting at 
middle of the sides of the square and all are facing towards inside. 
Remaining four are sitting at corners and they face outside. Two persons are 
sitting between P and U. R who is an immediate neighbor of P, sits opposite 
to S. T sits 3rd to the right of V. W sits immediate right of T. Q faces W. 

एक वगथाकथर मेज के र्थर ोंओर आठ व्यक्ति बैठे हैं। र्थर व्यक्ति वगा की भुजथओों

के मध्य में बैठे हैं और िभी कथ मुि अोंदर की ओर है। शेष र्थर क न ों पर बैठे हैं

और उनकथ मुि बथहर की ओर है। P और U के बीर् द व्यक्ति बैठे हैं। R, ज P कथ

सनकटतम पड िी है, S के सवपरीत बैठथ है। T, V के दथयें िे तीिरे स्र्थन पर बैठथ है।

W, T के ठीक दथयें बैठथ है। Q, W की ओर उनु्मि है।
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Eight persons are sitting around a square table. Four persons are sitting at 
middle of the sides of the square and all are facing towards inside. 
Remaining four are sitting at corners and they face outside. Two persons are 
sitting between P and U. R who is an immediate neighbor of P, sits opposite 
to S. T sits 3rd to the right of V. W sits immediate right of T. Q faces W. 
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11. Who among the following sits opposite to T?
सनम्नसलक्तित में िे कौन T के सवपरीत बैठथ है?

(a) P (b) R (c) S (d) W (e) None of these

12. How many persons are sitting between P and V when 
counted from left of P? 
P के बथयें िे सगनने पर P और V के मध्य सकतने व्यक्ति बैठे

हैं?

(a) Two (b) Three (c) Four (d) Either (a) or (c) (e) None of 
these

13. What is the position of Q with respect to R? 
R के िन्दभा में Q कथ स्र्थन क्यथ है?

(a) Immediate right (b) Immediate left (c) 2nd to the right 
(d) 2nd to the left (e) None of these
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14. Who among the following person sit 3rd to the right of 
Q?
. सनम्नसलक्तित में िे कौन Q के दथयें िे तीिरे स्र्थन पर बैठथ

है?

(a) P (b) U (c) R (d) S (e) None of these

15. Four of the following five are alike in certain way 
based from a group, find the one which does not belong to 
that group? 
सनम्नसलक्तित पथोंर् में िे र्थर सनसित रूप िे एक िमूह के

आिथर पर िमथन हैं, उि िमूह कथ पतथ लगथएों ज उि िमूह
िे िोंबोंसित नही ों है?

(a) Q (b) R (c) S (d) T (e) U
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Eight members are living in a family. Q is the only son of P. T is wife of U. T is sister of Q 
and R. V is daughter in law of W. S is son of T. W is the mother of Q.
एक पररवथर में आठ िदस्य रह रहे हैं। Q, P कथ इकलौतथ पुत्र है। T, U की पत्नी है। T, Q और R 
की बहन है। V, W की पुत्रविू है। S, T कथ पुत्र है। W, Q की मथतथ है।

16. How is S related to R? 
S, R िे सकि प्रकथर िोंबोंसित है?

(a) Son (b) Daughter (c) Nephew (d) Niece (e) 
Can’t be determined

17. How many male members are in the family? 
पररवथर में सकतने पुरुष िदस्य हैं?

(a) Four (b) Five (c) Three (d) Six (e) None of 
these
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18. How many such numerals are there in the number ‘254136987’ which 
will remain at the Same position when arranged in ascending order from 
left to right? 
िोंख्यथ '254136987' में ऐिे सकतने अोंक हैं ज बथएों िे दथएों आर ही क्रम में
व्यवक्तस्र्त करने पर िमथन क्तस्र्सत में रहेंगे?

(a) one (b) two (c) three (d) four (e) None of these
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19. How many pairs of letters are there in the word ‘EDUCATION’, each of which have 
as many letters between then in the word as they have between them in the English 
alphabet? 
शब्द 'EDUCATION' में अक्षर ों के ऐिे सकतने युग्म हैं, सजनमें िे प्रते्यक के बीर् उतने ही

अक्षर हैं सजतने अोंगे्रजी वर्ामथलथ में उनके बीर् हैं?

(a) one (b) two (c) three (d) four (e) more than four
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20. If four letter word is formed from 1st , 3rd, 5th and 6th letter of 
TRANSLATE then what is the 3rd letter of newly formed word? If more than 
one meaningful word is formed, then the answer will be Z. 

यसद TRANSLATE के पहले, तीिरे, पथोंर्वें और छठे अक्षर िे र्थर अक्षर कथ शब्द

बनतथ है त नए बने शब्द कथ तीिरथ अक्षर क्यथ है? यसद एक िे असिक अर्ापूर्ा
शब्द बनते हैं, त उत्तर Z ह गथ।

(a) L (b) T (c) A (d) S (e) Z
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Twelve people are sitting in two parallel rows containing six people each in such a way that there 
is an equal distance between adjacent persons. In row 1 – P, Q, R, S, T and U are seated (but not 
necessarily in the same order) and all of them are facing south. In row 2 – A, B, C, D, E and F are 
seated (but not necessarily in the same order) and all of them are facing North. Therefore, in the 
given seating arrangement each member seated in a row faces another member of the other 
row. P faces D. U does not face A, who sits left to E but not immediate left. R sit at one of the 
ends and diagonally opposite to B. Three persons sit between B and F, who does not face U. C sits 
immediate left to D but does not faces S. Two persons sit between Q and U, none of them sits at 
the end. The one who faces T sits 2nd right to A. 

बथरह व्यक्ति द िमथनथोंतर पोंक्तिय ोंमें प्रते्यक में छह व्यक्ति इि प्रकथर बैठे हैं सक आिन्न व्यक्तिय ों के

बीर् िमथन दूरी है। पोंक्ति 1 में - P, Q, R, S, T और U बैठे हैं (लेसकन जरूरी नही ों सक इिी क्रम में ह ों) और

उन िभी कथ मुि दसक्षर् की ओर है। पोंक्ति 2 में - A, B, C, D, E और F बैठे हैं (लेसकन जरूरी नही ों सक इिी

क्रम में ह ों) और उन िभी कथ मुि उत्तर की ओर है। इिसलए, दी गई बैठक व्यवस्र्थ में एक पोंक्ति में बैठे

प्रते्यक िदस्य कथ मुि दूिरी पोंक्ति के अन्य िदस्य की ओर है। P कथ मुि D की ओर है। U कथ मुि A 
की ओर नही ों है, ज E के बथयें बैठथ है लेसकन ठीक बथयें नही ों बैठथ है। R एक छ र पर बैठथ है और B के
सतरछे सवपरीत है। B और F के बीर् तीन व्यक्ति बैठे हैं, सजिकथ मुि U की ओर नही ों है। C, D के ठीक

बथएों बैठथ है लेसकन S की ओर उनु्मि नही ों है। Q और U के बीर् द व्यक्ति बैठे हैं, उनमें िे क ई भी नही ों

अोंत में बैठतथ है। वह व्यक्ति ज T की ओर उनु्मि है, A के दथयें िे दूिरे स्र्थन पर बैठथ है।
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Twelve people are sitting in two parallel rows containing six people each in such a way that there 
is an equal distance between adjacent persons. In row 1 – P, Q, R, S, T and U are seated (but not 
necessarily in the same order) and all of them are facing south. In row 2 – A, B, C, D, E and F are 
seated (but not necessarily in the same order) and all of them are facing North. Therefore, in the 
given seating arrangement each member seated in a row faces another member of the other 
row. P faces D. U does not face A, who sits left to E but not immediate left. R sit at one of the 
ends and diagonally opposite to B. Three persons sit between B and F, who does not face U. C sits 
immediate left to D but does not faces S. Two persons sit between Q and U, none of them sits at 
the end. The one who faces T sits 2nd right to A. 
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21. Who among the following faces A? 
सनम्नसलक्तित में िे सकिकथ मुि A की ओर है?

(a) S (b) T (c) Q (d) R (e) none of these

22. How many persons sit to the right of R?
R के दथयी ोंओर सकतने व्यक्ति बैठे हैं?

(a) No One (b) one (c) two (d) three (e) four

23. Four of the following five form a group, who among 
the following does not belongs to that group? 
सनम्नसलक्तित पथोंर् में िे र्थर एक िमूह बनथते हैं, सनम्नसलक्तित
में िे कौन उि िमूह िे िोंबोंसित नही ों है?

(a) U (b) T (c) E (d) F (e) A
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24. If in a certain way R is related to C, T is related to E, 
then who among the following is related to D? 
यसद एक सनसित तरीके िे R, C िे िोंबोंसित है, T, E िे िोंबोंसित

है, त सनम्नसलक्तित में िे कौन D िे िोंबोंसित है?

(a) U (b) T (c) E (d) F (e) Q

25. Who among the following sit 3rd right to U?
सनम्नसलक्तित में िे कौन U के दथयें िे तीिरे स्र्थन पर बैठथ

है?

(a) R (b) T (c) P (d) S (e) Q
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26. What is the code for ‘left’? 
(a) sa (b) ha (c) yo (d) na (e) None of these

27. ‘behind’ will be written as? 
(a) ra (b) ha (c) la (d) Either (a) or (c) (e) None of 
these

28. What is the code for ‘ahead’? 
(a) sa (b) yo (c) la (d) ha (e) Can’t be determined

29. What does ‘ha’ stand for? 
(a) behind (b) below (c) ahead (d) above (e) None of 
these

30. What is the code for ‘centre’? 
(a) la (b) yo (c) sa (d) ha (e)Can’t be determined
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There are eleven boxes placed one above the other. Five boxes are placed between F 
and T. Not more than five boxes are kept above T. Two boxes are kept between T and 
M. Three boxes are kept between M and S and M is kept at one of the positions 
above S. There are only three boxes kept above the box J. One box is kept between R 
and S. Two boxes are kept between R and H. Box D is kept at one of the positions 
below box K and at one of the positions above box C which is not above R. Box E is 
kept immediately above K.

ग्यथरह बके्स एक के ऊपर एक रिे गए हैं। F और T के बीर् पथोंर् बॉक्स रिे गए हैं। T के
ऊपर पथोंर् िे असिक बॉक्स नही ोंरिे गए हैं। T और M के बीर् द बॉक्स रिे गए हैं। M और

S के बीर् तीन बॉक्स रिे गए हैं और M क S के ऊपर सकिी एक स्र्थन पर रिथ गयथ है।

बॉक्स J के ऊपर केवल तीन बॉक्स रिे गए हैं। R और S के बीर् एक बॉक्स रिथ गयथ है। R 
और H के बीर् द बॉक्स रिे गए हैं। बॉक्स D क बॉक्स K के नीरे् और बॉक्स C के ऊपर

सकिी एक स्र्थन पर रिथ गयथ है ज सक R के ऊपर नही ों। सिब्बथ E, K के ठीक ऊपर रिथ

गयथ है।
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There are eleven boxes placed one above 
the other. Five boxes are placed between F 
and T. Not more than five boxes are kept 
above T. Two boxes are kept between T and 
M. Three boxes are kept between M and S 
and M is kept at one of the positions above 
S. There are only three boxes kept above 
the box J. One box is kept between R and S. 
Two boxes are kept between R and H. Box D 
is kept at one of the positions below box K 
and at one of the positions above box C 
which is not above R. Box E is kept 
immediately above K.
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31. How many boxes are placed between J and R? 
J और R के मध्य सकतने सिबे्ब रिे गए हैं?

(a) 5 (b) 6 (c) 3 (d) 4 (e) None of these

32. Number of boxes above K is one less than the 
number of boxes below ________? 
. K के ऊपर बक्स ों की िोंख्यथ ________ के नीरे् वथले

बक्स ों की िोंख्यथ िे एक कम है?

(a) S (b) R (c) F (d) D (e) None of these

33. How many boxes are there between M and H? 
M और H के मध्य सकतने सिबे्ब हैं?

(a) One (b) Two (c) Three (d) None (e) More than 
three
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34. Which of the following statement is true regarding C? 
. C के िोंबोंि में सनम्नसलक्तित में िे कौन िथ कर्न ित्य है?

(a) C is placed at one of the positions above D 
(b) C is placed immediately below F. 
(c) R is placed just above C 
(d) C is placed at the bottom most position 
(e) None of these 

35. Which of the following is not true regarding J? 
सनम्नसलक्तित में िे कौन J के िोंबोंि में ित्य नही ों है?

(a) J is immediately below box T 
(b) One of the boxes below J is D 
(c) Number of boxes between J and S is four 
(d) One of the boxes above J is K 
(e) One box is kept between J and M
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(a) If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow.
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Point P is 2m north of Point Q. Point Z is 9m west of 
Point Q. Point L is 15m east of Point M which is 20m 
south of Point Z. Point R is 3m south of Point L. Point 
T is west of point R and South of Point P.

1) How far and what is the direction of Q with respect to T?
A.21m towards the south
B.20m towards the south
C.23m towards the north
D.22m towards the north
E.None of the above

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

http://www.mahendras.org/

